gas
U

M:
0o Oooo
0000000 00000000O0ODO=Excuse me, do you have time to talk with me now?

F:

000 0 oooooo

0000100 20 OO OO = Let me see (Let me think), it is ten o'clock and twenty minutes. /

2
oo
00000000 = Yes. So, what would you like to talk to me? /

3
0O0ood
OO0 00000 O0O=The clock is over there. /

oo o a

o 0O
J0000ob0o0 bb0obo0ob 300 00 0bb 00O bO4d=MrsLin, regarding a part-time

job of tomorrow, | want you to come at three o’clock.
*O00 000 = <plain-style-nonpast-affirmative> of 0 [0 O 0O 00O = want (a person) to come

*O0O0 g3=come
* [te-form] O O 0O 0O O =want (a person) to do [
*00 00 =[plain-style (but, ‘da’ of {[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changed to [ .

*OO=1but 2 <usedto show a hesitation> //

F:
1

O
0000 OO0 O0000=Please come anytime.
*OO0O g3=come
*[te-form] O OO 0O =pleasedo O /



2
000 000000 =How is your convenience? Can you make it? /

3
oooooa

O00000D0000=Yes,itis all right (OK, no problem). /

0ooo 0ooo gooo oo 0 O0oooo

O0000D000 D000 80 OODOO OO Mr Tanaka, regarding the trip of tomorrow, we will
set off (depart, leave) at 8. /

oo
O000 00O OO=lesspoltethan00 00 OO0 OO ODOODO OO = Please sure that

you will not be late.
*0 000 =be not late = <plain-style-nonpast-negative> of 0 00 [0 [0 g2 (be late, be delayed)

* [dictionary-form / nai-form] 0 O O O O O = make sure that (X) do O /don’tdo [
*O0=...,isntit?7;..... , am | right? <confirmation particle> //

O
00 00000 =1will be careful. | pay attention. /

2
OO OO OOO0O0O0O=Please do so.

*OOOd g3=do
*[te-form] O O O 0O =pleasedo O /

3
]
OO0 00 ODD0O0O0OO=1notice O very well. | often notice [ /

oo
O00000D0O00O=O0h,is it raining now? /
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D 000 =so much so like that /

DDDDDDD DDDDDDDDDDD_toonesregret (X) got wet

*000000 =000 0000 =toone’s regret, (X) got wet = <plain-style-past-affirmative>
of 0O OOODODO (to one’s regret, (X) get wet)

*0000 g2 =getwet

*[te-form] O O 0O O O g1 =1 to one’s regret, he does [0 2 finish doing 0 completely

*[O te shimaimasu - O chaimasu

*[ de shimaimasu - [0 jaimasu

* te-form is often used to join sentences or to mean ‘by (means of) doing O, with doing O . And
it is sometimes used to show reason as well. //

You got wet so much, (so what happened?)

oa
O000O00 O0O0O0000 O0=Then, |don’t need an umbrella. /

2

O0 00 0 O00000=0000 00000 O0=When willitrain, | wonder?

* [0 0O = <plain-style-nonpast-affirmative> of [ [0 O O g1 ((something) fall (from the sky))
*000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changed to [ .

+
00000 =[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] 0 0 0O 00O is

more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
* Actually OO OO OO OO means ‘1 Probably ....... b2 e, , right? /

w

ooo O
OO0 000 OO0 DO OO0 = It suddenly started to rain.
*O000 OO0 =started to rain = <plain-style-nonpast-affirmative>of O 0 0 O O O (start to rain)

*0000 g1 ((something) fall (from the sky))
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* [te-form] O O OO = 1. go there to do .... and will be back

2. start to do, begin to do
3. (with the past tense,) have been doing ... so far
*000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ...... - [0 can be changedto 0. /

DDD 00 OO0 =because it is hot, /

0000 = alittle, for a while /

DDD 0 =window + [J <direct-object particle> /
EDD 000000000 00=
morepolitethanEDD 00000 o0 oos
more polite than 5 OO0 odoooods=

May | open? Is it OK for me to open?
*O000 g2=open

*[te-from] 0 OOO0O =maydo [, itit OKto do [
*[te-form] 0 OO OO OO =maydo O, itis OKto do [0 <more polite>
*00000 =[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] D 0 O 0O 0O is

more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
*Actually 0 O O O means ‘1 Probably ....... 2 , right? //

Because it it hot, may | open the window for a while? (would you mind my opening the window
for a while?)

M:
1

m}
O000O0000000O0=Then, let's close. ; Then, | shall close. /

2
000000000 O0=No, I don’'t mind. (Yes, you may close.) /

3
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OOOOO0OO0OO0OO0OO0OO0O0O0=You are welcome. /

50

F:
ooooo 0 0

00000000 OOoOoooooodds=Sir(Madam, Customer), do you eat here?
O O O

*0000D000 = (superior) eat = special-deferential-verb of O [0 00 0 g2 (eat) /

oo

O
O 00000 0000 UOO=Do you carry home (take away, take out)?
* O [masu-form] O O 00O O g1 = (superior) do [ <deferential-verb>

O000000D0O0=Yes,itis all right (it it OK, no problem). /

2
0
OO0 O0O0O000=1eathere./

3
O
O00000D00O00=No,Ihold (possess, carry). /

goooooo ED 0 OO O0O=The bus is not coming for a long time.

*0 000 =1 very, considerably, easily, readily, fairly, quite, highly, rather

2 (not) easily, (not) readily, be slow (in doing O ), by no means (with negative verb)
* 5 0 O =don’t come = <plain-style-nonpast-negative> of 5 00 g3 (come)
*EDD gd =5DDD =don’t come

* [nai-form] O O =[masu-form] 0 OO =don’tdo O /
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oo O
OO0 000 O 0O 000000 =Isthe road congested with traffic?
] O O
*O00 0O =000 00 =<plain-style-nonpast-affirmative>of J OO [0 O O = be congested,

be crowded, be packed, be jammed
*000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changed to [ .

+
00000 =[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] 0 O O 0O 0O is

more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
*Actually 0 O O O means ‘1 Probably ....... 2 e , right? /

2
00000 O0OO0000 O0=1chose abus and it was good.

*000 00 =000 000000000 =chose abusand....
*(A) O [stem of i-adjective] O OO0, (A) O [stem of na-adjective] 0 0O 0O O = make (A)

[adjective]
*(A) O [noun] O O OO =make (A) [noun]

*[noun] O O OO =decide on [noun], choose [noun], order [noun] /

3
OO0 0O 00 OO0 O0O=Itlooks quite (fairly, very) early.
* [masu-form / stem of i-adjective / stem of na-adjective] 0 0 [0 [0 =it looks like that [0, (X) is

going to do [ at any moment /

ooao

0000000 000 OO0 OO0 O00=1hear that that movie is not showing anymore.
*O00 00 =000 000 =be not doing = <plain-style-nonpast-affirmative> of O 0 0 O 0
[0 (be doing now)
*O000 =1do 2 (superior) give (inferior)
*DDDDDD 0000 =show a movie
* [0 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] 0 00’ =
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...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to O . //

F:
1

oo DD DD 5 U 5 00O 0O0=Then, let’s go to see tomorrow.

* 5 0 5 00 =let’s go to see, | shall go to see = volitional-form of 5 O 5 000 (goto see)
* [masu-form] O 5 000 gl =gotodo [

* [masu-form] O 5 00O g3 =cometodol

* [masu-form] O DDD 000 g1 =go back (return) to do [

* volitional-form / [masu-form] O O O O =1 Let’s do [0 together. 2 1shalldo O /

0

2
O00=Yes,/

00O = not yet, still /

000 OO0 000 0d=<plain-style-nonpast-affirmative>of 000 OO0 OO0 OO0 =00 00O
O OO0 OO =itlooks like that (X) is not doing now

*000 000 =be not doing now = <plain-style-nonpast-negative>of 0 00 OO O (be

doing now)
*O000 =1do 2 (superior) give (inferior)

* In this case, U O O J means ‘show a movie’
*00000 = [plain-style (but, ‘da’ of {[na-adjective / noun] da’ must be omitted.)] 0 00 0O
(According my academic analysis, ) it looks like that [J , it seems that 0 < based on the

subjective grounds> =
more casual than ‘[plain-style (but, ‘da’ of ‘{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and
‘no’ respectively)] O O O O’ = (According my academic analysis, ) it looks like that (1, it seems

that [] < based on the subjective grounds> //

Yes, it looks like that they haven’t shown a movie yet.

3
O
O00000D0000000=What? (Really?) To my regret, it ended.
] ]
*0000000 =0000 0000 =toone’s regret, (X) ended = <plain-style-past-
O
affirmative>of 0 0 00O OO0 OO =to one’s regret, (X) end
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* 5 0000 g1 =end, finish

*[te-form] D O OO O g1 =1to one’s regret, he does 0 2 finish doing 0 completely
* te shimaimasu - 0 chaimasu

*[ de shimaimasu - [0 jaimasu/

000000 O = this handout /

D gbonbo ogog g = everybody in the class + [ <recipient particle>/
DDD o ooood o= DDD 000 00000 O0O=Would you please distribute
beforehand?

* DDDD 0O 0000 =distribute beforehand

*[te-form] O 0O 0O 0O =1 do O beforehand (in advance)

2 do O for future convenience

3leave U asitis

* [ te o kimasu - [ to kimasu

*[J de o kimasu — [0 do ki masu

* DDDD 0 O g1 =distribute, deliver /

HREEN

Request:
[te-form] 0000 O =Canyoudo O ?

[te-form] 00000 O =Canyoudo O ?

[te-form] 0 0O O O = Please do [

te-form] 000000 O = Could you please do O ?, Would you please do [0 ?
[te-form] 00O OO O0O O =Could you please do [ ?, Would you please do [ ?
[te-form] 00 0 0O 0O O = Could you please do 0 ?, Would you please do [J ?
te-form] 000000 O = Could you please do O ?, Would you please do 1 ?
[te-form] OO0 O OO O O = Could you please do O ?, Would you please do O ?
te-form] 000000 0O O = Could you please do [ ?, Would you please do [ ?
oo

=

00 O O = Ah! (expression of surprise, recollection, etc.), Oh!/

O

000 OD0O0O0D00O = ltis taken intentionally. | took it and it is here (there).
O

*0000 g1 =take
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*[te-form] O 0O 0O 0O =be O, (X) did O intentionally and the state resulting out of the action still

remains <used to describe the state which results as a consequence of an action intentionally
done by someone>/

é 00000 O000D0O0O0= Yes, | will do it beforehand
*O000 =1do 2 (superior) give (inferior)
*[te-form] D O OO =1 do O beforehand (in advance)
2 do O for future convenience

3leave U asitis

* [ te o kimasu - [J to kimasu

*[J de o kimasu - [J do ki masu

3
oo
OO0 0000 O 0O0O00D0O0=1think that | can receive immediately.
*O0 000 = <plain-style-nonpast-affirmative> of J [0 O U [0 (can receive, be able to receive)
which is the potential-verb of 0 00 0 [J [0 (receive, get) /
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